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ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all five questions. All questions carry 

equal marks. Answers to questions no. 1 and 2 

should be in about 400 words each. 

1. Describe Venn diagram. Use Venn diagrams to 

show distribution of terms. 	 20 

OR 

Explain different kinds of dilemma in detail. 	20 

2. Define Logic. Is it a positive or normative 

science ? Elaborate. 	 20 

OR 

Write a detailed essay on Induction. 	 20 
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3. Answer any two of the following questions in 

about 200 words each : 

(a) Construct formal proof of validity for the 

following : 	 10 

(i) (V1 1A)A(XY) 

(ii) Z)A(Y 	-1A) 

(Z = 113) A CI A = C) 
(iv) 	VAX/...113 AC 

(b) Explain the nature and scope of logic. 	10 

(c) Explain Figure and Mood with example. 	10 

(d) Using truth-table technique, prove the 

invalidity of the following arguments : 	10 
(i) E (F V G) 

(ii) G 	(H A I) 
(iii) 1 H 	E = I 

4. Answer any four of the following questions in 

about 150 words each : 

(a) Construct truth-tables for disjunction and 

conjunction. 	 5 

(b) Explain conversion and obversion. 	 5 

(c) How is falsification non-inductive ? 	 5 

(d) What is categorical syllogism ? 	 5 

(e) What are the limitations of Aristotelian logic ? 5 

(f) Write a comment on truth and validity. 	5 
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5. Write short notes on any five of the following in 

about 100 words each : 

(a) Kinds of Generalization 	 4 

(b) False Cause 	 4 

(c) Division by Dichotomy 	 4 

(d) Categorematic Words 	 4 

(e) Existential Instantiation 	 4 

(f) Contrary and Subcontrary 	 4 

(g) Weakened and Strengthened Moods 	 4 

(h) Proposition 	 4 
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Richt.T chi 911H (*t.t.111.) 

TA', 2019 

-002 : I 

chic44ch 

ATRT : 3 EITJ 
	

arrE7W-d# 3Tv5 : 100 

TiF : Fre ErtV 3j dri1 e07 / ??2,7?3/rj 3iT tLIHM 

3M-1 ,Y(°qI 1 31k 2 	,3711 7-11.FT 400 71--  (5- 1*) 

6 -cif 

1. aTku 'wr 	-1 	 I 	fq—drur 
334 1tr (-111C11 4 W-1$11 I 

	
20 

31TIM 

iditi7 Slahlt *r -kr-4m (dilemma) 	1-4--rT 
ttr-4I 	 20 

2. 'criti-Tftra A)-r—A7I cren 
1 1 H t- TIT P-N14-1 ,4, ? 	04-41(y41 e2=t-r—A7 I 

	
20 

3i2FIT 

aiTTP:R.  d4 (Induction) 17 "Q7t) fam -P-47q-

--F-137 
	

20 
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3. 	 4 -4 W--g1 	 .31-1k WW1 

200 Ylt ( -51) 4 tN7 : 

() PIHRifigd* 	 3.1-rwrrT umur Tr-€ d 

: 	 10 

(i) -INAT)A(XY) 
(ii) Z)A(Y =1A) 

(Z 1 B) A OA = C) 

(iv) 	VAX/...iBAC 

dc6RA 	 ratm-aq 
00-11(9411 WA7I 	 10 

(Tr) 3 	lTd a-Tapa-r 4't 3cwui 
*FA-7 	 10 

(q) 1:14-irortgo d 	i 3Tatrd1 	..1c-qof-TIRErft fat 
*1:1T 	-R:rz *W77 : 	 10 

(i) E (F V G) 

(ii) G (H A I) 

(iii) 111 	E = I 

4. i":14--IfCiRgi 	 4 	f 	W7? 

150 7(1 (51-A-- ) 4 	: 

fiq1 ,31a, 74 .i41 ,31 ,:b 
-ftgrivr rr-A7  I 	 5 

tritT4R-  3tR MIIccf.i (obversion) *1 oqi(PAI 

-I 	 5 

(IT) aT-4— rrcr-41-4-d-r 	 ? 	 5 

(1:1) flla i .-4(1qqich4 ctql 	? 	 5 

3Rd YIft 	I 	4W (t411 ? 	 5 

(w) Hczldr at'R 	tR fa-ccruft*P47 I 	 5 

BPY-002 
	

5 	 P.T.O. 



5. 	tvf 4 4 f-*7-6-iut 7TriTrr 100 71 
( -5A-- ) 4 Ti-N77 	: 

() (-114-11-41emur 	 4 

ebRur 	 4 

(Tr) fa4tmmft i fl T r 	 4 

(7) 	de YID 	 4 

(3')3-1- 1T 1,,e.iPachkui 	 4 

14cIttff 3i 314 a4 	d 	 4 

() 	3TaT20 	 4 

(7) i4i 	ictq 	 4 
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